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TABLE: Element Forces - Frames
Frame | Station og;‘;:t Case Type P V2 V3 M3(3) | M2 M3
Text in Text Text Kip Kip Kip Kip-in Kip-in Kip-in

22 0 DSTL4 | Combination | -13.5954 | -30.8283 | 0.417829 | -262.104 0 -3840.39
22 0 DSTL2 | Combination | -13.8661 | -27.4935 | 0.417829 | -295.399 0 2613

22 0 DSTL12 | Combination | -5.62967 | -16.4759 | 0.313371 | -209.546 0 -2590.04
22 0 DSTL6 | Combination | -9.36686 | -20.0144 | 0.234125 | -209.546 0 2015.9
22 0 DSTL5 | Combination | -9.36686 | -20.0144 | 0.601532 | -156.989 0 2015.9
22 0 DSTL8 | Combination | -3.98245 | -12.9562 | 0.417829 | -102.401 0 11932.98
22 0 DSTLL | Combination | -2.17955 | -8.80746 | 0.487467 | -92.7366 0 -1190.86
22 0 DSTL10 | Combination | -1.86819 | -7.54925 | 0.325977 | -77.5342 0 11020.74
22 0 DSTL9 | Combination | -1.86819 | -7.54925 | 0.50968 | -66.4579 0 -1020.74
22 0 DSTL14 | Combination | -1.40114 | -5.66194 | 0.129668 | -66.4579 0 765,553
22 0 DSTL13 | Combination | -1.40114 | -5.66194 | 0.497075 | -49.8434 0 765,553
22 0 DSTL3 | Combination | -5.13834 | -9.20048 | 0.417829 | -49.8434 0 -191.408
22 0 DSTL7 | Combination | 0.246076 | -2.14229 | 0.417829 | -40.1792 0 -108.492
22 0 DSTL11 | Combination | 2.827386 | 5.151987 | 0.313371 | 2.713922 0 1058.938
22 | 2458007 | DSTL2 | Combination | -5.61027 | -2.19348 | 3.11E-03 | 24.06312 0 1030.563
22 | 2458907 | DSTL4 | Combination | -7.83938 | -8.10314 | 3.11E-03 | 20.35006 0 939.7358
22 | 2458007 | DSTL6 | Combination | -3.61085 | -237502 | 5= | 1660488 | 0 730.4593
22 | 2458007 | DSTL5 | Combination | -3.61085 | -2.37502 | 1.50E-02 | 16.60488 0 730.4592
22 | 2458907 | DSTL3 | Combination | 0.617676 | 3.353103 | 3.11E-03 | 12.85069 0 521.1827
22 | 2458007 | DSTL12 | Combination | -4.43739 | -7.7363 | 2.33E-03 | 6.885045 0 381.9912
22 | 2458007 | DSTL8 | Combination | -2.39274 | -5.54163 | 3.11E-03 | 6.051573 0 334.9244
22 | 2458007 | DSTLL | Combination | -0.32489 | -3.12384 | 3.63E-03 | 4.870227 0 268.6672
22 | 2458007 | DSTL10 | Combination | -0.27848 | -2.67757 'Z'SSE' 4.17448 0 230.2862
22 | 2458007 | DSTL9 | Combination | -0.27848 | -2.67757 | 9.08E-03 | 4.17448 230.2861
22 | 2458007 | DSTL14 | Combination | -0.20886 | -2.00818 -9.8;5- 3.13086 0 172.7147
22 | 2458907 | DSTL13 | Combination | -0.20886 | -2.00818 | 0.014268 | 3.13086 0 172.7146
22 | 2458007 | DSTL7 | Combination | 1.835782 | 0.186486 | 3.11E-03 | 2.297387 0 125.6479
22 | 2458007 | DSTL1l | Combination | 4.019665 | 3.719939 | 2.33E-03 | -0.62333 0 -36.5619

\Vd
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TABLE: Element Forces - Frames
Frame | Station | Output Case Case Type P V2 V3 M3(nt3) M2 M3
Text in Text Text Kip Kip Kip Kip-in Kip-in Kip-in

21 0 DSTL4 Combination | -67.9254 | -16.9969 | 1.15E-02 | 5.92E-15 0 0
21 0 DSTL2 Combination | -65.287 | -7.65974 | 1.15E-02 | 5.92E-15 0 0
21 0 DSTL6 Combination | -56.333 | -5.7029 | -0.26644 | 2.96E-15 0 0
21 0 DSTL5 Combination | -56.3329 | -5.7029 | 0.289517 | 8.76E-31 0 0
21 0 DSTL1 Combination | -48.3111 | -2.84842 | 1.35E-02 | 8.76E-31 0 0
21 0 DSTLS8 Combination | -47.2057 | -8.0885 | 1.15E-02 | 4.38E-31 0 0
21 0 DSTL3 Combination | -44.7405 | 5.591095 | 1.15E-02 0 0 0
21 0 DSTL12 Combination | -42.6496 | -13.1251 | 8.65E-03 0 0 0
21 0 DSTL10 Combination | -41.4095 | -2.44151 | -0.12745 | -4.38E-31 0 0
21 0 DSTL9 Combination | -41.4095 | -2.44151 | 0.150528 | -8.76E-31 0 0
21 0 DSTL7 Combination | -35.6133 | 3.205491 | 1.15E-02 | -8.76E-31 0 0
21 0 DSTL14 Combination | -31.0572 | -1.83113 | -0.26932 | -2.96E-15 0 0
21 DSTL13 Combination | -31.0571 | -1.83113 | 0.286632 | -5.92E-15 0 0
21 0 DSTL11 Combination | -19.4646 | 9.462866 | 0.008654 | -5.92E-15 0 0
21 305.1181 DSTL4 Combination | -34.4596 | -3.36119 | -0.95384 | 262.1036 0 3840.39
21 305.1181 DSTL2 Combination | -31.8209 | -4.65304 | -0.95384 | 295.3993 0 2612.996
21 305.1181 DSTL6 Combination | -22.8674 | -2.69594 | -0.39592 | 209.5463 0 2015.899
21 305.1181 DSTL5 Combination | -22.8674 | -2.69594 | -1.51175 | 209.5463 0 2015.899
21 305.1181 DSTL12 Combination | -17.5508 | -0.24083 | -0.71538 | 156.9889 0 2590.044
21 305.1181 DSTLS8 Combination | -13.741 | 0.233263 | -0.95384 | 102.4008 0 1932.983
21 305.1181 DSTL3 Combination | -11.2752 | -2.03069 | -0.95384 | 92.73659 0 191.4084
21 305.1181 DSTL1 Combination -9.269 0.660201 | -1.11281 | 77.53423 0 1190.861
21 305.1181 DSTL10 Combination | -7.94485 | 0.565887 | -0.67488 | 66.45792 0 1020.738
21 305.1181 DSTL9 Combination | -7.94485 | 0.565887 | -1.2328 | 66.45792 0 1020.738
21 305.1181 DSTL14 Combination | -5.95864 | 0.424416 | -0.15746 | 49.84344 0 765.5534
21 305.1181 DSTL13 Combination | -5.95864 | 0.424414 | -1.27329 | 49.84344 0 765.5534
21 305.1181 DSTL7 Combination | -2.14876 | 0.898511 | -0.95384 | 40.17924 0 108.4924
21 305.1181 DSTL11 Combination | 5.633549 | 1.089663 | -0.71538 | -2.71392 0 -1058.94
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P 1260.44 )
= . - =0.61
A ¢(0.75)F, (0.75)0.75)(3700) o

S oo ool P12 5 N )
A, =1.13cm?

ol g ol 5 53 0 BEls sl Jee 52 58 lake

_ 6.246
~ 5.9375
1325.93

A, = =0.64 cm?
®  (0.75)(0.75)(3700) om

T (1260.44) = 1325.93 kg
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TABLE: Element Forces - Frames
Frame Station Output Case Case Type P V2 M2 M3
Text in Text Text Kip Kip Kip-in Kip-in

47 385.8719643 DSTL13 Combination 6.270016435 6.39E-02 0 7.87E-15
47 192.9359821 DSTL13 Combination 6.187449873 -1.85E-17 0 6.166475119
47 0 DSTL13 Combination 6.104883311 -6.39E-02 0 0

48 385.8719643 DSTL14 Combination 5.922430694 6.39E-02 0 7.87E-15
48 192.9359821 DSTL14 Combination 5.839864132 -1.85E-17 0 6.166475119
a7 385.8719643 DSTL5 Combination 5.763251278 8.52E-02 0 1.05E-14
48 0 DSTL14 Combination 5.75729757 -6.39E-02 0 0

47 192.9359821 DSTL5 Combination 5.653162529 -2.46E-17 0 8.221966825
a7 0 DSTL5 Combination 5.543073779 -8.52E-02 0 0

48 385.8719643 DSTL6 Combination 4.930906276 8.52E-02 0 1.05E-14
48 192.9359821 DSTL6 Combination 4.820817527 -2.46E-17 0 8.221966825
48 0 DSTL6 Combination 4.710728778 -8.52E-02 0 0

47 385.8719643 DSTL9 Combination 3.036056399 8.52E-02 0 1.05E-14
47 192.9359821 DSTL9 Combination 2.92596765 -2.46E-17 0 8.221966825
47 0 DSTL9 Combination 2.8158789 -8.52E-02 0 0

48 385.8719643 DSTL10 Combination 2.254566431 8.52E-02 0 1.05E-14
48 192.9359821 DSTL10 Combination 2.144477682 -2.46E-17 0 8.221966825
48 0 DSTL10 Combination 2.034388933 -8.52E-02 0 0

47 385.8719643 DSTL11 Combination 0.45945741 6.39E-02 0 7.87E-15
47 192.9359821 DSTL11 Combination 0.376890848 -1.85E-17 0 6.166475119
47 0 DSTL11 Combination 0.294324286 -6.39E-02 0 0

47 385.8719643 DSTL7 Combination 0.130776886 8.52E-02 0 1.05E-14
47 192.9359821 DSTL7 Combination 2.07E-02 -2.46E-17 0 8.221966825
47 385.8719643 DSTL3 Combination -0.047307747 8.52E-02 0 1.05E-14
47 0 DSTL7 Combination -8.94E-02 -8.52E-02 0 0

47 192.9359821 DSTL3 Combination -0.157396496 -2.46E-17 0 8.221966825
47 385.8719643 DSTL1 Combination -0.184710061 0.099434999 0 1.22E-14
48 385.8719643 DSTL11 Combination -0.222736023 6.39E-02 0 7.87E-15
47 0 DSTL3 Combination -0.267485246 -8.52E-02 0 0

48 192.9359821 DSTL11 Combination -0.305302585 -1.85E-17 0 6.166475119
47 192.9359821 DSTL1 Combination -0.313146935 -2.87E-17 0 9.592294629
48 0 DSTL11 Combination -0.387869147 -6.39E-02 0 0

47 0 DSTL1 Combination -0.44158381 -0.099434999 0 0

47 385.8719643 DSTLS8 Combination -0.447422706 8.52E-02 0 1.05E-14
a7 192.9359821 DSTLS8 Combination -0.557511455 -2.46E-17 0 8.221966825
47 0 DSTLS8 Combination -0.667600204 -8.52E-02 0 0

47 385.8719643 DSTL12 Combination -0.696941774 6.39E-02 0 7.87E-15
47 192.9359821 DSTL12 Combination -0.779508336 -1.85E-17 0 6.166475119
48 385.8719643 DSTL7 Combination -0.818016927 8.52E-02 0 1.05E-14
47 0 DSTL12 Combination -0.862074898 -6.39E-02 0 0

47 385.8719643 DSTL2 Combination -0.905817997 8.52E-02 0 1.05E-14
48 192.9359821 DSTL7 Combination -0.928105677 -2.46E-17 0 8.221966825
47 192.9359821 DSTL2 Combination -1.015906746 -2.46E-17 0 8.221966825
48 0 DSTL7 Combination -1.038194426 -8.52E-02 0 0

47 0 DSTL2 Combination -1.125995496 -8.52E-02 0 0

47 385.8719643 DSTL4 Combination -1.203706931 8.52E-02 0 1.05E-14
48 385.8719643 DSTL3 Combination -1.214260441 8.52E-02 0 1.05E-14
47 192.9359821 DSTL4 Combination -1.313795681 -2.46E-17 0 8.221966825
48 385.8719643 DSTL1 Combination -1.319077976 | 0.099434999 0 1.22E-14
48 192.9359821 DSTL3 Combination -1.32434919 -2.46E-17 0 8.221966825
47 0 DSTL4 Combination -1.42388443 -8.52E-02 0 0

48 0 DSTL3 Combination -1.43443794 -8.52E-02 0 0

48 385.8719643 DSTLS8 Combination -1.443259604 8.52E-02 0 1.05E-14
48 192.9359821 DSTL1 Combination -1.447514851 -2.87E-17 0 9.592294629
48 385.8719643 DSTL12 Combination -1.473221375 6.39E-02 0 7.87E-15
48 192.9359821 DSTLS8 Combination -1.553348353 -2.46E-17 0 8.221966825
48 192.9359821 DSTL12 Combination -1.555787937 -1.85E-17 0 6.166475119
48 0 DSTL1 Combination -1.575951725 | -0.099434999 0 0

48 0 DSTL12 Combination -1.638354499 -6.39E-02 0 0
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48 0 DSTL8 Combination -1.663437102 -8.52E-02 0 0

48 385.8719643 DSTL2 Combination -2.264822028 8.52E-02 0 1.05E-14
48 192.9359821 DSTL2 Combination -2.374910777 -2.46E-17 0 8.221966825
48 385.8719643 DSTL4 Combination -2.464745793 8.52E-02 0 1.05E-14
48 0 DSTL2 Combination -2.484999527 -8.52E-02 0 0

48 192.9359821 DSTL4 Combination -2.574834543 -2.46E-17 0 8.221966825
48 0 DSTL4 Combination -2.684923292 -8.52E-02 0 0

47 385.8719643 DSTL10 Combination -3.352702218 8.52E-02 0 1.05E-14
47 192.9359821 DSTL10 Combination -3.462790967 -2.46E-17 0 8.221966825
47 0 DSTL10 Combination -3.572879717 -8.52E-02 0 0

48 385.8719643 DSTL9 Combination -4.515842962 8.52E-02 0 1.05E-14
48 192.9359821 DSTL9 Combination -4.625931711 -2.46E-17 0 8.221966825
48 0 DSTL9 Combination -4.736020461 -8.52E-02 0 0

47 385.8719643 DSTL14 Combination -6.507500799 6.39E-02 0 7.87E-15
47 192.9359821 DSTL14 Combination -6.590067361 -1.85E-17 0 6.166475119
47 0 DSTL14 Combination -6.672633923 -6.39E-02 0 0

47 385.8719643 DSTL6 Combination -7.014265956 8.52E-02 0 1.05E-14
47 192.9359821 DSTL6 Combination -7.124354706 -2.46E-17 0 8.221966825
47 0 DSTL6 Combination -7.234443455 -8.52E-02 0 0

48 385.8719643 DSTL13 Combination -7.618388093 6.39E-02 0 7.87E-15
48 192.9359821 DSTL13 Combination -7.700954654 -1.85E-17 0 6.166475119
48 0 DSTL13 Combination -7.783521216 -6.39E-02 0 0

48 385.8719643 DSTL5 Combination -8.609912511 8.52E-02 0 1.05E-14
48 192.9359821 DSTL5 Combination -8.72000126 -2.46E-17 0 8.221966825
48 0 DSTL5 Combination -8.830090009 -8.52E-02 0 0

Sosme Gon o iiu—B.83k —4005.3kgf & 1=9.8m
oS oo oslimad Laasl gl SlasU ss )
S o ool | 2 U100
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|, =29.3cm*
A = 2(10x 0.6+ 2x 5% 0.85)= 29 cm?
(1,). . =2(20.3+14.5x3.45?)= 4038cm"*

(ry )T _ [A088 _ 3.73cm
otal 29
(lﬂ j = % =183.9— ¢, .F, =4354— ¢_.P, =435.4x29=12626.6 kg
y .

P, =1.6(4005.3)=6408.5kg — ¢,.P, > P, - 0k

M) Sl g boiiroly s Sl

/

/»

—\i y iae |
O %M |

—“ h=3.9in

228 o A SETO L, T3, S g5 s SMAW 1, i g5
S o JS 5 G2 ol 5 2l 120.35 1N Jlasl G, culbs o 0 23

Apin = %6in
8y, =035- 1/ =0.24in
—t,=0.707(0.2)=0.14in
i i b g F, =0.75(1x0.14)0.6x 70) = 441K/

—a=0.2in

9
S s i J;:%:l.OZin—)Min.l =1.02in

I>w

_ }(w=3.9;4in)—>l=5in
w<8in
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TABLE: Element Forces - Frames
Frame Station Output Case Case Type P V2 V3
Text m Text Text Kgf Kgf Kgf
77 8.660705081 DSTL14 Combination | 397.955333 582.9033622 0
77 4.33035254 DSTL14 Combination | 264.1621665 2.75E-14 0
77 0 DSTL14 Combination | 130.3689999 | -582.9033622 0
77 8.660705081 DSTLI10 Combination | 29.66414578 | 777.2044829 0
77 8.660705081 DSTL11 Combination | 121.0936944 | 582.9033622 0
77 4.33035254 DSTLI10 Combination | 148.7267429 3.66E-14 0
77 8.660705081 DSTL7 Combination | 229.8603679 | 777.2044829 0
77 4.33035254 DSTL11 Combination | 254.8868609 2.75E-14 0
77 8.660705081 DSTLI12 Combination | 285.2587554 | 582.9033622 0
77 8.660705081 DSTL8 Combination | 311.9428984 | 777.2044829 0
77 8.660705081 DSTLI Combination | 316.0519054 | 906.7385634 0
77 0 DSTLI10 Combination | 327.1176317 | -777.2044829 0
77 0 DSTL11 Combination | 388.6800275 | -582.9033622 0
77 4.33035254 DSTL7 Combination | 408.2512567 3.66E-14 0
77 4.33035254 DSTLI12 Combination | 419.0519219 2.75E-14 0
77 4.33035254 DSTL8 Combination | 490.3337871 3.66E-14 0
77 4.33035254 DSTLI Combination | 524.1746089 4.27E-14 0
77 0 DSTLI12 Combination | 552.8450884 | -582.9033622 0
77 8.660705081 DSTL9 Combination | 571.4674121 | 777.2044829 0
77 0 DSTL7 Combination | 586.6421454 | -777.2044829 0
77 0 DSTL8 Combination | 668.7246759 | -777.2044829 0
77 0 DSTLI Combination | 732.2973124 | -906.7385634 0
77 4.33035254 DSTL9 Combination | 749.8583008 3.66E-14 0
77 8.660705081 DSTLI13 Combination | 804.3077828 | 582.9033622 0
77 8.660705081 DSTL6 Combination | 857.1685796 | 777.2044829 0
77 0 DSTL9 Combination | 928.2491896 | -777.2044829 0
77 4.33035254 DSTLI13 Combination | 938.1009493 2.75E-14 0
77 4.33035254 DSTL6 Combination | 1035.559468 3.66E-14 0
77 0 DSTLI13 Combination | 1071.894116 | -582.9033622 0
77 0 DSTL6 Combination | 1213.950357 | -777.2044829 0
77 8.660705081 DSTL3 Combination | 1376.217607 | 777.2044829 0
77 8.660705081 DSTIL4 Combination | 1540.382668 | 777.2044829 0
77 4.33035254 DSTL3 Combination | 1554.608496 3.66E-14 0
77 4.33035254 DSTIL4 Combination | 1718.773557 3.66E-14 0
77 0 DSTL3 Combination | 1732.999385 | -777.2044829 0
77 0 DSTIL4 Combination | 1897.164445 | -777.2044829 0
77 8.660705081 DSTLS Combination | 2059.431695 | 777.2044829 0
77 8.660705081 DSTL2 Combination | 2170.73924 777.2044829 0
77 4.33035254 DSTLS Combination | 2237.822584 3.66E-14 0
77 4.33035254 DSTL2 Combination | 2349.130129 3.66E-14 0
77 0 DSTLS Combination | 2416.213473 | -777.2044829 0
77 0 DSTL2 Combination | 2527.521018 | -777.2044829 0
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(M, )y =113.245Kk —in
(V, )y =15.78k
L, = 236.22in

M, =113.245k —in
c _ 12.5M,,,, g IMa=72166k~in
® T 25M,,, +3M, +4M, +3M, M, =77.347k —in
M, =15.544k —in

(12.5)(113.245)

C, = =1.65
® (2.5)(113.245)+3(72.166)+ 4(77.347) + 3(15.544)

@M, =259k — ft =310k —in
L, =5.3 ft=64in

%CMnx _ '\C" —6k- ft >W5x16=> L. =26.3 ft=315in
b b BF =0.444k
Z =9.59in®

PM, = Cb[(”bM P~ BF(Lb —-Ls )]S P,Mp
=1.65[310-0.444(236.22 - 64)|= 385.3> 310 > ¢, M, =310k —in

e JS
@, M, =310k —in>113.245k —in —» ok v/
o JS Y
h/ -15.8< 4? =69.7 -
e i3 y
oV, =0.6¢F,, A, =(0.9)0.6)(36)(4.266)0.27)= 22.39 k >15.78k — ok
S

_ MI?113.245(236.222)
~ 32El 32(29000)21.3)
| 236.22

== ~0.66
360 360

0.32

—>okv

Wb s 50 pie Y
@R, = 6.25)F,.(t,)* =(0.9)(6.25)0.36)*(36) = 26.2k >15.78 k — ok ¥’

oy
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R, = (2.5k + N)x F,, xt, =[(2.5)0.75)+ 2](36)(0.27) = 37.67 k > 15.78 k — ok v’

ol o ks

For '% >0.2

¢R, =0.75x 68><tW2><[1+ (4(%) - 0_2){:_W

f w

15 ‘/
F .t
] } iw =492k >15.78k — ok

ol golad ks Y

24t ° [EF
PR =09x—— Y ™ _101.8k >15.78k — ok v/
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L=177.165 in
1.4D=686 kg/m
2
(M,),.. _ 686145 _ 1736.44 kg —m =M, =150.7 k —in
V), =15435kg =V, =34k
Z, = M, _ 10T _ 4 65in°
¢,-F, (0.9)36)
— W8x10
vy Js N

@, M, =239k~ ft =286.8k —in>150.7 k —in — ok ¥
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384EI.  384(29000)(30.8) ok
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all = 360 360
G S

/ 405<4//7 69.7 —

oV, =0.60F, A, =(0.9)0.6)36)(6.885)(0.17)=22.75k >3.4 k — ok

Q.R, = p(6.25)F , .(t,)" =(0.9)(6.25)(0.205)*(36)=8.5k > 3.4 k — ok ¥
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@R, =(2.5k+ N)x F, xt, =[(2.5)0.625)+2)(36)0.17)=21.8k 3.4 k — ok

ol aose S #

For% >0.2

R, =0.75% 68t wlel + (4[%) - o.z)C—w

z,

1.5 Fwtf
=L =15.58k >34k — ok
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ol golas ks Y

24t [EF
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8/ _o0.01k
2)235 4@ =0.01 41
(M), =215.88k—in
v,),.. =33k
M 215.88 »
=—* = =6.67
“~ g, F, (0.9)36) "
—>W12x19
e J SN

@,-M,=66.7k— ft =800.4k —in>215.88k —in — ok ¥

b olosed w48 ©so ol oo o 5 gl 2 lb 5 U8 B el o siege 5 (S 2B s e b ol

.Y
3,8 Ooso 2l s 5T a5l ies
5 J &S
_5q,l° .\ oIt (5)0.014)(236.22)° . (0.028)(236.22)" _ 3
384EI.  G60EI.  384(29000)(130)  (60)(29000)(130) ok v
- 23622 o
360 360
Fadss Y

h/ =462<H8/ =697
e i3

oV, =0.60F, A, =(0.9)0.6)36)(10.857)(0.235)=49.68 k > 3.3k — ok

Q.R, =p(6.25)F , .(t,)" =(0.9)(6.25)(0.35)*(36) = 24.81 k >3.3k — ok v’
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PR, =(2.5k+N)XF, xt = {(2.5)(%) + 2}(36)(0.235) =341k >33k — ok

ol aose S #

For% <0.2
tW

1.5
EF,
@R, =0.75%0.4x1,°X 1+4(%)[—J = 22611k 233k — ok
1t t

24t,° [EF,,
@R, = O.9x% =26.38k >3.3k — ok
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P =67.93k
A36 & f/=3ksi

d=1733in , b, =10.235in

P

A=A =2A="""—
@.x0.85f,

(Base Plate): Sy » ) Olxio >,b

(A) i =dXxb, =10.235x733=75.02in’ 2444 in> — A=75.02in’

A
PL11x8 — f:1.43

1

0.95d —0.8b,

A =7502>5A= =1.67 in

N=JA +A=10— N =10in

B="t o750 g yaj,
N
m=N=09d _,
2
B-0.8b,
n= —~=0.9
2

, A
0.P, =0.6x0.85f/x A /f = 164.2k
1

Adb
PO e I R Y S s
(@+b,)

A [db
n' = y L =156, | = Max(m,n, An’y = 1 =2.7

t=1 i =0.502in:>t=lin
O.9FyBN 2

®.P, 1+\/1—x_

1wl avulow
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zéin
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.‘r,:JWCél:d

v, =31k

A Bf=7.5in —

Tw=0-4+5in

A———— h=17in ——T=6:695in

0 =0.695(7.5)(8.8475)=46.12 in*

1=992.4in*
3146.12) <0.75(0.6)(70)(z, )(2) = Min.t,, =0.023 in
992.4
1Bl 5 ad S Sisr 35se 0 b 5 Ll s LRFD sl o1 5b
S MI}(@B@—%)JL\SA 6 0.2510n 3 iy colns j3ai S e da STas
) Jox Sl as S s glu Sl Y
% = sl Sl Vizeass
3/ 1 1/ . (-
%6 n A toé Culns
1/ ; 1 3/ e
A in A toA Cuolns
5/ i 3 o
% o Y SV
aMin = ln
LRFD 16 =a=0.35in

a,,, = 0.415—% =0.35in

—t,=0.35(0.707)=0.25 in > 0.023 in — ok
—t,=0.25in

)



(civil.com (@)

(S Ol - 3Y 98 059y

.‘r:JWCAZA

V, =34k

~—— Bf=10.23%in ——

Tw

D
«

g
3

A~ h=1bin —TFf=0:665in

0 =0.665(10.235)(7.8325) = 53.3 in*
1=946.7 in*
3.4(53.3)

9647 <0.75(0.6)(70)(z, (2) = Min.t,, = 0.003 in

108G A a8 Gier 350 53 Mk ) Lulss LRFD b o051 5ib
S »I}(MW—%)JL\& 6 0.2510n 3 iy colns j3ai S e da STas
03 Jsax Sl as S G gle J8ls Y

% = sl Jolas Vizedss
%6 in % to% Colns
% in % to% Cwls
% o % S el

aMin = %6 in
LRFD 1 =a=032in
a,,  =0385-——=0.32in
Max 16

—1,=0.32(0.707)=0.23in > 0.003 in — ok
—1,=0.23in
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A :JWCél:d

V. =17k

~—— Bf=10.235 ——~

Tw+0.285

A~ h=6in

0 =0.665(10.235)(3.3325) = 22.7 in®

I1=156.81in"
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